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[image: image1.png]C-12 MpoussoaHbie 3neMeHTApHbIX GYHKUUNA

I sapuanm

1. ITonbaysichk ompepesnenueM, HARIUTEe HPOW3BOLHYIO DVHK-
nuu f(x)=4x-5.

. Hasigure: a) f'(x); 6) f'(-1), ecnm f(x)=x%~3x%+5x+ 3.
. Hafigure: a) f'(x); 6) f(0), ecnu f(x)=e"-cosx.

. Haiigmre: a) f'(x); 6) f'(4), ecan f(x)=%.

. Haiture: a) 1 (x); 6) /' (16), ecom f(x)=Vx.

Ot e W N

II gapuanm

1. [lonp3ysacek oIpejesieHWEM, HAUAUTE IIPOMBBORHYI0 DyHK-
nuu f(x)=5x-9.

2. Hatigure: a) f'(x); 6) f'(-1), ecan f(x)=x3+2x2-5x+1.
3. Hatigure: a) f'(x); 6) f'(0), ecam f(x)=e"-sinx.




[image: image2.png]4. Haitoure: a) f'(x); 6) f'(0), ecmn f(x)= i:jlg y

5. Haiipure: a) ' (x); 6) [ (64), ecim f(x)=Vx.
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Pemure ypaBHeHue (2c052x +v3- cosx)v 11tgx = 0.

Pemninre ypaBHeHue (]/§ -tgx + 1)1/ —17cosx = 0.

Peunre ypaBHeHue (tgx -3 ) V37cosx = 0.

tg?x— V3 tgx _ 0
V—15sinx .

Peminre ypaBHeHHe

Pewnte ypasrenue (2sin?x — 5sinx + 2) 3/ —53cosx = 0.

Pewnrte ypaBHenue (cos2x — 3sinx + 1))/ —21cosx = 0.




